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The text reads: There were two types of food before him

OVERVIEW

In our X773 the X072 is 192 °17 17192 17 and it does not state *3w (and so is No7A
""w7); however MooIN maintains that it should read 1795 *1» “1w. According to
"1 the food is mixed with n?109 (trash); however according to mM»oIn there is no
real nN109 just two types of food.
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And so too does the 1" explain our X7 that we are "' 0713, for 79992

(selecting) is applicable even when selecting one food from another food; meaning -
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That he selects the food that he does not want to eat from amongst those foods

that he wants to eat; this is considered 923 7\nn 9109 7712, and he is 21 for M2 -
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Since that food which he does not desire to eat is considered n?12p in relation to

that food which he desires to eat -
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And so too it seems in 2217 71250 where the text reads, ‘one who selects foods
from foods, 5Pt says he 1s 21, etc.

SUMMARY
There is an 77°72 MO°R by 721 71NN K.

THINKING IT OVER

When n1vo1n writes that the 92X that he does not want to eat is considered n?109;>
does mooIn mean that he generally does not like to eat it (and therefore it is N?109),
or does NHOIN mean that right now he does not want to eat it (and nevertheless it is
n7o9 [even though generally he does eat it])?*

! See “Thinking it over’.

2 2,um 77 2"7 "0, We see from the 7w where the X073 is that he is 2921 Tinn 2°%21% M2 that the 77772 10K
applies even by 721X 7101 721X,

3 See footnote # 1.

4 See w"x" here '7 "0 (02109 PR PRI 931X PR ANY 219K T INIX).
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